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1) 2sinx.cosx—mcosx =0 2) sindx—sin2x =ksinx

3) mtanx-m+1=0 4) mtan®x—2tanx+1=0

5) 2sinx-m+1=0 0<x<% 6) 4cosx.cos[%—xj=2m+\/§—2 , —%<x<3§
7) sin*x—(2k +1)sinx+2k =0 8) sin6x—(k—4)cos4x—sin2x =0

9) tan?x—(m—1)tanx+1=0 10) M Iy

11) sind4x-sin2x=msinx , —%<x<% 12) sin4x=ktan2x , —%<x<%

13) kcosx.sin(%—szﬁ : 0<x<% . k>0

57 137

14) ksin2x+4sin| x-=|=4-k ; Zox<=Z | k>0
4 12 12
15) sinX+sin3x+sin5x = — : 0<x<ZX
2sin x 12
16) sinx—sin3x+sin5x=ksin3x —%<x<%

17) (m+1)cos 2x—8m(cos4§+ sin“§j+7(m -1)=0
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- 3 y9] oy cos(x—%) w3b 2sinx+2cosx—sinxcosx =2 31 (19 Jto



